Nl & 0 & Al A Al
20218 = 20l A LBFSH M A
2N ERHSA
HM: H¥M2HAH(EEAESA)
el Qe (ESASA) SR
MY . B (3H) - NEAY - BAS ofl &t o SSa HDE2
EBHSA 6,971,852 7,178,787 N 206,935
= 253,960
Al 560,580
- 6,157,312
HHESAHAH(EEHREY) 398,778 329,333 69,445
ol (ERASA) 358,642 288,389 70,253
QIHAAY (EEMEEY) 358,642 288,389 70,253
101 @121l 354,037 286,529 67,508
02 JIEt& E % 111,773 50,955 60,818
OANMZLEEHAIM(LIZ) A2 &L HAIX 55,241
A=) 3,688,410& x12& 44,261
—Its4 1,440
il < Xt 40,000& x1H «12& 480
SeII=E
(20,000 12 4+60, 000 « 12 )x12& 960
— ol g sy 50,000 «35/40+ 1 «12& 525
— 3 HZAH| 140,000& x 15 x12& 1,680
—S+xesg
h 3,688,4102 x40/35%84%*5%* 12& 2,125
—AZ2tAZ2 RS 12,002 *30AI 2tx1H x12& 4,321
— A2 A
3,688,410 «84%*86%*1/30%1/7+70A| 2tx1&H 889
OLBrAIH(72) 56,532
—-JI=23 4,002,000& x1H x12& 48,024
- JIEx4 1,440
bl < Xt 40,000 x1H +x12& 480
2IIE
(20,0002 12460, 0002 « 12 )+ 12& 960
— Horg syl 50,000& 1« 128 600
— 3 ZAH| 140,000& x 19 = 12& 1,680
—ANZ2ZAZL2LY 10,8413 *30AI 2tx1H « 128 3,903
— I A
3,672,160 x84%*86%*1/30*x 10 x1H 885
03 2INAHAZZ2XNHE % 242,264 235,574 6,690
OFFEESHEA(Y), E9LEHIAY) 81,442
—-Jl2= 2,186,820 »2H x12& 52,484
—Az2tez2xd
11, 140& *1.5%30A] 2t x2H « 128 12,032
—dxigasse 11, 1403 *8Al 2t %2H x 10 1,783
==Ll 2,624,180& »2H 5,249
—&d2Y 2,186,820 2 4,374
= 140,000& x2H «12& 3,360
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AEP 40,0002 x224 * 122 960
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(20,0002 22 +60, 0002 « 12 ) x12& 1,200
OsdI|s=0 82 (3Y) 137,471
—JI=23 2,496,980 *3H x12& 89,892
S ECE
12,590& *1.5%30A] 2t *3H x12& 20,396
—Higasg 12,5903 *8Al 2t *3H x 10 3,022
— 9 ZE =4l 2,996,380& x3H 8,990
824 2,496,990& »3H 7,491
— g4l 140,000& x3Y9 »12& 5,040
—IJtEx4 2,640
- i S Xt 40,000 x2H x 128 960
=P ELES
(20,000 x4 +60,000¥ 1 )« 12€ 1,680
o4 s 23,351
A R =" 218,833,000 *3.7% 8,097
—=0d3 218,833,000& *4 . 5% 9,848
- 1888 218,833,000& *1.6% 3,502
—AMEE 218,833,000& *0.87% 1,904
204 X4 A Y| 4,605 1,860 2,745
02 238 x| 4,605 1,860 2,745
OANMZLEEBHAIM(LIZ) 22T L HAIKX
250,000 *35/40«1H x12& 2,625
OeBAIIH(72) 165,000& x1¥ = 12& 1,980
2B (ERASA) 40,136 40,944 ~808
JI2ZH(EENSA) 40,136 40,944 A 808
201 L2 | 21,746 22,574 £828
01 At 22l bl 21,746 22,574 N\ 828
ORN2g UL =2Y| 8,440,000& x95% 8,018
OJ2g#HE20 A 13,728
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—XH8Z 8,000& x2H 143 x12& 2,688
202 04t 14,400 13,680 720
01 2L Y] 14,400 13,680 720
OJI2gR+#HEH Y| 14,400
— g EtA 60,000& 19 x12& 13,680
— J|EtA 60,000& 12 ~12& 720
203 Y2 E X Y| 3,990 3,990 0
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— 29 - GAHEEH X221 1,000,000 1,000
— 00 B2 AlE2 2% 2 Iy
22,000, 000& 22,000
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—SdH & M2 15,000,000& 15,000
MMl RFEE FA 524,870 601,730 ANT76,860
FTHEEZE HNE -HIE 194,870 171,730 23,140
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— SFAAX M 150,000, 000& 150,000
— 24 ZEOCN 22X HE
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FN: BEMSA
. HPgHE2As
Sl HEE JlY & B CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 2UctAIAE SR IEH 20,558,000& 20,558
— A2 SSIIEHAIAE X E =t
80,938,000& 80,938
— A2 Mol =SFAIAE X E =4l
15,258,000& 15,258
— A2 SSIIEAIAE MHIAOAR 2
6,460,000 6,460
405 TtatF S| 22,000 53,900 A 31,900
01 AL EFFHSH 22,000 53,900 A 31,900
OZ3JIgt AEC|X &£ 22,000,000 22,000
Fgome &5 ¥ 2el 790,079 1,048,492 A 258,413
201 Let24d] 385,061 382,352 2,709
01 At 22l 90,671 115,549 A24,878
O+t 90,671
—HHPSLE S/W 2L 43,165,930 43,166
LHPC X210 &2t etola s 2
11,147,880& 11,148
— BHAL S/W H2F 2told A 2
22,700,520& 22,701
— 2ctRE MEA User License (50)
3,317,820 »44 13,272
—NEE2 S¥R 6,400& x53| x12& 384
02 =224l 294,390 266,803 27,587
OAE ZHI S X 294,390
—dAE 2 HERI FH KRAE =
277,595,000& 277,595
—SYMEIAEX(UPS) S X E =t
1,680,000& 1,680
—g28s5J RAE=H 1,815,000 1,815
—JIEtEADID] X2 =8] 4,300,000& 4,300
—HERIA 22F 7Y 9,000,000& 9,000
405 THobH S| 405,018 646, 164 A 241,146
01 AL = ZH SHI 405,018 646, 164 A 241,146
OgeeE a3xH 7¢ 1,280,000& = 130CH 166,400
Ok=® L2 29X UWERZT ZHl WA
117,000, 000& 117,000
OMABEXMANAYE BHIIE 22l AIA"E &
2 78,019,040& 78,020
O&EZ2SHAIAE (PSM) w Al 25,500,000 25,500
OL% ZQHSB 2tcl AlIAE WXl
18,097,200& 18,098
SAAIE olZet Rx 22 1,513,601 1,308,236 205,365
Al 201,363
- 1,312,238
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X ZH -
L= B

el

0z O Ofoh

2rs4d
MAIE olZer RE 2e|
SSAUAE JjgtRs & |2

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
ESAAE Jlgt2=s & RA2 1,513,601 1,308,236 205,365
Al 201,363
- 1,312,238
HCCTV &1 & 29 250,000 100,000 150,000
Al 150,000
- 100,000
401 Al HI X 201 250,000 100,000 150,000
Al 150,000
- 100,000
01 A& HI 250,000 100,000 150,000
Oue=zzegHd HE CCTV X (f XS &N
& FOEOUA) 150,000, 000& 150,000
Al 150,000
oYy E CCTV &X 100,000, 000& 100,000
ESHAE JEt2=E & KA2e 296,050 268,000 28,050
201 Let24E] 296,050 246,720 49,330
01 At 2t 2l 5,074 3,984 1,090
O e8| 5,074
&N 7L 50,000& 123 600
-0z S¥E 6,400 53] 128 384
—siad ABRE 1Y 300,000& =122 3,600
— 2 SEY AL HEF 2&A YA
=g 70,0003 x74H 490
02 22| 290,976 242,736 48,240
OZZR2 2 MAl 268,572
~2HLEESMNY SMR
9,500,000& x12& 114,000
— T MSsH L AVFE SR
2,500,000& x12& 30,000
—dH MG SHRS 5,000,000& x12& 60,000
— WS AMtEZE 1,300,000& »12& 15,600
— 332000 SRS
33,000& +973| & *12& 38,412
—=& [FUYS ANERS
11,000& *80CH x12& 10,560
OA& & Hl S Xl 22,404
— 2 EESHANE X2
50,000& *3002] & 15,000
— IS ROHMHIA(ENTA, =5, 2y
INAE SXES A 485,0002 128 5,820
—g2gsll A2+ 9 132,000 <12 1,584
Z7 365 MEOIFMME 29 967,551 940,236 27,315
Al 51,363
- 916,188
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M SAAE oZegt 2= 2e
Sl FESMAL JURE U Xz (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 909,727 841,067 68,660
Al 51,363
- 858,364
01 At 22l 360 360 0
Oogxtzs 360
— 3 365 MEUMMEH H=I| 2XZ
30,0002 12 360
02 =224l 909,367 840,707 68,660
Oz&22= & HMA 670,560
—CCTV 3= 88,000 *580CH x12& 612,480
—CCTV &MII2=3 7,000& «580CHx128 48,720
— =S8 CCTV sld=z  60,000&+130H+12& 9,360
Al 9,360
OA & ZHl R Xl 238,807
— =7 365 MEOHMMH CCTV SSRANE=S
16,400,330& 128 196,804
—XZSs8W TV 2Hed 2LHZY 4
42,003,000 42,003
Al 42,003
308 XX EHHSOIA 5,024 2,814 2,210
11 3J2SoHUHSI S HAE ALS HI 5,024 2,814 2,210
O3+ 365 MEtMHEH 22 HASHI
5,024,000 5,024
405 XhoHH S 52,800 56, 102 £3,302
01 AL EFH S 52,800 56, 102 A 3,302
O3+ 365 MEtMHE 2MAIAE 22
26,400,000 *2CH 52,800
TESAHAZA 38,312 102,979 A 64,667
Al 12,921
- 25,391
HAUsE SHZA 38,312 102,979 A 64,667
Al 12,921
T 25,391
SHZAL = 38,312 102,979 A 64,667
Al 12,921
T 25,391
101 1Al 10,424 26,840 N 16,416
Al 5,212
- 5,212
4 D122 E2EXREES 10,424 26,840 A 16,416
OZMBBEA ZAHE B 9,492,000 9,492
Al 4,746
- 4,746
OZME=AMN HA3XN=3 932,000& 932
Al 466




FN: BEMSA
M AHESHEM
S HWaUAs SAHE (&)
o
SN EE B (BH) - BHAS e Hl D= 2t
- 466
201 LB-2dH| 27,888 76,139 A48,251
Al 7,709
- 20,179
01 At 2t 2l 25,888 74,139 A 48,251
OZHBEA E2 A &= 15,418,000& 15,418
Al 7,709
= 7,709
OB1N & &2t 6,250
— AP HIN =S HZ 35,000& x50 1,750
—sHJIE2sHHE 30,000& 1005 3,000
— Ol A ALS| Xl H == A 30,000& 50 1,500
Oget=&H| 3,500
—SHZEZA EEH| 1,500, 000& 1,500
—SHAHIE 234 2,000,000& 2,000
oYxe 720
—SHNYT H4I| YRE
30,0003 =123 «2CH 720
02 3322l 2,000 2,000 0
OSHESE JIE RAE I 2,000,000& 2,000
TURHME 4 € XA 2,802,787 ,805,720 A2,933
= 253,960
Al 346,296
- ,202,531
Y MEH=s 274,154 144,154 130,000
SEHEII(8) 124,154 124,154 0
203 YR EX 950 950 0
03 Al F=ZX 950 950 0
Ox=& 1,000,000& *95% 950
307 21201 A 123,204 123,204 0
04 212t A 123,204 123,204 0
o8& Szl
123,204,000& 123,204
0SS0t ENS 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
04 212t A 10,000 10,000 0
Ogolg 10,000, 000& 10,000
T olste shot 130,000 0 130,000
307 21201 A 130,000 0 130,000
04 BI2HSH A 130,000 0 130,000
O+as Hestsd
130,000, 000& 130,000
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FN: BEMSA
M ARSME 4 € N
Helr dMEHs 245 (Sl & &)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 45,000 45,000 0
02 PIZHEHAHEE 45,000 45,000 0
OotdAZMEzna 22 XA 45,000,000& 45,000
HEAMENSXEX BHIX(2SXH) 138,528 135,072 3,456
= 58,464
Al 37,632
T 42,432
307 glz2+ol & 138,528 135,072 3,456
= 58,464
Al 37,632
T 42,432
02 HAFHAANEEE 138,528 135,072 3,456
O MENSXNEX X (E2SXH)
133,728,000& 133,728
= 58,464
Al 37,632
T 37,632
ONZSANMEHNSX X BHXI(H 2L 08l)
4,800,000& 4,800
UBTMET S X (2SXE) 242,424 230,948 11,476
= 102,312
Al 65,856
T 74,256
307 glz2+ol & 242,424 230,948 11,476
= 102,312
Al 65,856
T 74,256
02 QIZtE M AHE X 242,424 230,948 11,476
OYBIMERSXSA I (2SKHA)
234,024,000 234,024
= 102,312
Al 65,856
- 65,856
OLPMSHSUS X BHXI(HRMHEHHI)
8,400,000 8,400
S7HMsE 293 27,680 22,080 5,600
Al 13,240
2 14,440
307 glz2tol & 27,680 22,080 5,600
Al 13,240
2 14,440
03 QIAHMHE2IHIEE 27,680 22,080 5,600
OEFHE3 AIR=2E olAy|
27,680,000& x1H 27,680
Al 13,240
2 14,440
MEHS2LE X3 91,815 76,245 15,570




2N
X ZH -
L= B

el

s2H=s4
TFUESHE 4 &€ A2
Al

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
203 R F & 1,900 1,900 0
03 AIZH =X 2= X H| 1,900 1,900 0
ONMsE4d3t Az =& 2,000,000< *95% 1,900
307 gizto| A 89,915 74,345 15,570
02 QI2tAAMAIE E =X 23,100 23,100 0
OsFH=3 MU L HA XNJAS
23,100,000 23,100
03 I HEHESIHHIEX 66,815 51,245 15,570
O=s72Hd=3 224 XA 66,815,000 66,815
AX2AX0I2H XS 109,440 91,520 17,920
= 76,608
Al 16,416
- 16,416
307 212t0| & 109,440 91,520 17,920
= 76,608
Al 16,416
- 16,416
02 DI AAIE E X 109,440 91,520 17,920
OA2Z=2X0I2F XN 109,440,000 109,440
= 76,608
Al 16,416
- 16,416
AT RAFOISHE X 23,680 23,680 0
= 16,576
Al 3,552
- 3,552
307 2iz2to| A 23,680 23,680 0
= 16,576
Al 3,552
- 3,552
02 QIZIA AAIE E X 23,680 23,680 0
O ATZ=AXOEH XA 23,680,000 23,680
= 16,576
Al 3,552
- 3,552
ZOHFHAEH HSAE 24 866,032 846,771 19,261
308 AMXISHMSOIA 832,180 818, 121 14,059
11 B 2SHUSHEANE A 832,180 818, 121 14,059
O=0x=4dgH 29 832,180,000 832,180
401 AlEHIZ 2 0HY| 17,000 19,200 N 2,200
01 Al&H| 17,000 19,200 A 2,200
ONelol Mz n=s FMAIAD B2 ZA}
17,000,000& 17,000
405 XHo&HF S HI 16,852 9,450 7,402




2N ERHSA
MY P0251S 84 2 A
ool MEIS B (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 16,852 9,450 7,402
O=32H=sdH 285 + 16,852
— ot EE 6,262,000 = 1CH 6,262
—gAHA (2t 0Z) 3,090,000 *1CH 3,090
— Z3tat Jthilct 2,500,000 =3CH 7,500
NEA2sEIR 29 827,200 814,700 12,500
Al 200,000
- 627,200
=z AE2SZIR N 827,200 814,700 12,500
Al 200,000
- 627,200
201 Let24d] 3,500 3,500 0
01 AtR 22l Y| 500 500 0
o4 2| 500
-xzgsyz 500,0002 500
02 2324gHl 3,000 3,000 0
Oxzdet (2 I L Hdldl)
3,000,000& 3,000
301 LA F 823,700 811,200 12,500
Al 200,000
- 623,700
o=t - 2s2SENS 823,700 811,200 12,500
ool 523,500
—2S1g, Z 1Y, d=8% A4
523,500,000& 523,500
Al 200,000
- 323,500
o223l 238,200, 000& 238,200
OWa &JHl & a2 a=s 62,000,000& 62,000
H=EAE &5 40,134 243,350 A 203,216
HEAL &5 & 22 40,134 243,350 A~ 203,216
201 2Bt | 13,134 16,350 ~3,216
01 At 22l 4,434 4,050 384
Ogt=&H| 3,384
—HSAE 228 7Y 3,000,000& 3,000
—NEE2 SR 6,400& x53| x12& 384
Oo2g+¢ 1,050
—Hsdsliz2dcde 4+
70,000 x5H *33] 1,050
02 2324l 8,700 12,300 A 3,600
Oz&22= & HA 8,400
—HESAE 28 2223 £ MAl
700,000& 123 8,400
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SN BERHSA
Hu: NS S48 L N
SR HSAE 25 (29l 8)
- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
OMSAYE AMEH(EI|) =42 300,000 300
206 M = dl 2,000 2,000 0
01 X2 bl 2,000 2,000 0
ogssd A2 s ¢ 10,0003 *200 % 2,000
401 AIEHIZ 201 Y| 25,000 225,000 A 200,000
01 Al&H| 25,000 225,000 A 200,000
25,000,000 25,000

OZU MEAE RAES




